St Denys Primary School

Spellings and Times Tables

Week beginning:
th
g 6" July 2020 -

Creativity, Choice, Challenge
Achievement for All
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Activity Sheet
Term 3 Set 3 Week 10

(Find the matching homophones and put them together.j

to rain for meet
rein  peace four your
he’ll piece  heal you're
fore two too heel

reign hear here meat
fore ... . hear ... ...
to meat ...
heel ... ... peace ...
B e s WOUE i

Circle the homophone that has been used correctly in the
sentence.

This letter is for/four you.
Spud ran too/to the park.
I'll go if he’ll/heel go with me.

Sprout played in the rein/rain. G

Did you here/hear what she said?
Let's meet/meat on the playground.
| just want some piece/peace and quiet.

Is this your/you’re lost pump?
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Activity Sheet

T

Term 3 Set 3 Week 10

Use the spellings below to complete the sentences in your
own words.

scene  science  scissors weigh eight veins

<[I’m using the scales,so ... ]
. <[We rehearsed our nativity ............... ]
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Name: Week 1 Session 1

Times Tables 6 o 2020-21
. 6x tables multiplication and division
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6x7= 21 6X6= 41 3IX6=
2 6 x 10 = 22 6x11= 42 0% 6= Time taken
3 6x8= 23 6x1l= 43 10 X 6 =
- — 3 minute time limit &
4 6 x 10 = 24 6x2= 44 9Xx6=
- E—— Score
5 6x8= 25 6XxX2= 45 4x6=
6 6 X 8= 26 6x9= 46 12X 6 = 60
7 6x2= 27 6x9= 47 10 X 6 =
- E— What's your rock status?
8 6xX5= 28 6 x12 = 48 2X6=
9 6X5= 29 6XxX7= 49 8x 6= < 18 correct in 3 mins
[ - R ) AZE BAALED
10 6x11= 30 6x 12 = 50 6 X6 = 18-19 correct in 3 mins
il 6x12= 31 4x6= 51 11 X 6 = 20-21 correct in 3 mins
T KR
12 6X6= 32 10 X 6 = 52 2%X6= 22-24 correct in 3 mins
UN#AGNED AT
13 6x2= 33 1Xx6= 53 1% 6= 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
14 6x5= 34 11 X 6 = 54 3x6= 30-35 correct in 3 mins
15 6x8= 35 2X6= 55 3X6= 36-44 correct in 3 mins
HEADUINER
16 6X4= 36 12 X6 = 56 6 X6 = 45-59 correct in 3 mins
- - T Rodk2TAR
17 6x7= 37 1Xx6= 57 5% 6= All correct in < 3mins
Ko<k LEGEND
18 6x7= 38 1x6= 58 5% 6= All correct in < 2min
19 6 x 10 = 39 11 X 6 = 59 5% 6= All correct in = 1 min
20 6X9= 40 11 X6 = 60 8X6=

©Maths Circle Ltd 2020



Name: Week 1 Session 2

Times Tables 6 N 2020-21
. 6x tables multiplication and division
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
1 13 25 37 49
6| 24 6| 60 6| 42 6| 36 6| 48
Time taken
2 14 26 38 50
6 60 6| 18 6 6 6 18 6] 72 3 minute time limit
3 15 27 39 51 Score
6| 18 6| 30 6| 18 6| 36 6| 48
4 16 28 40 52 60
6| 72 6| 18 6| 12 6 6 6| 42
What's your rock status?
5 17 29 41 53
6| 12 6| 24 6| 48 6| 36 6| 36 - o
]‘ANNABE
< 18 correct in 3 mins
6 18 30 42 54 2 . 'E DAA L =D
6| 30 6| 72 6| 48 6| 12 6| 30 18-19 correct in 3 mins
7 19 31 43 55 20-21 correct in 3 mins
6| 60 6| 54 6| 48 6| 42 6 48  444ER
22-24 correct in 3 mins
INSSNED A<
8 20 32 44 56 UNAAGNED A<
25-29 correct in 3 mins
6| 66 6| 66 6| 6 6| 42 6| 6
BREAKTHROUGH ARTIST
30-35 correct in 3 mins
9 21 33 45 57 SUPPORT A<
6| 66 6| 36 6 18 6| 36 6 30 36-44 correct in 3 mins
HEADUNER
10 22 34 46 58 45-59 correct in 3 mins
6| 72 6| 60 6| 48 6| 36 6|54 Rodk#TAR
All correct in < 3mins
rodk 1ECEND
11 23 35 47 59 70<k LESEND
All correct in < 2min
6| 30 6 48 6| 72 6| 42 660 .
Ro<k HERO
All correctin = 1 min
12 24 36 48 60 ur -
6| 60 6| 42 6| 24 6| 36 6| 18 TLME7 TABLE7

©Maths Circle Ltd 2020



Name: Week 1 Session 3

Times Tables 6 o 2020-21
. 6x tables multiplication and division
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6 13 6 25 6 37 6 49 6
X 2 X 9 X 5 X 9 X 4
- Time taken
2 6 14 6 26 6 38 6 50 6
X9 X 2 X 3 X 4 X7
3 minute time limit &
3 6 15 6 27 6 39 6 51 6 Score
x 11 X 12 x 11 X 2 x 10
4 6 16 6 28 6 40 6 52 6 60
X 3 X 3 X 2 x 11 X 2
What's your rock status?
5 6 17 6 29 6 41 6 53 6
x 3 X3 X 4 x 7 x 10
< 18 correct in 3 mins
6 6 18 6 30 6 42 6 54 6 s ADALE BAdkED
X 11 X1 x 12 X1 x 1 CARASE {O Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 6 19 6 31 6 43 6 55 6 20-21 correct in 3 mins
X 8 X 8 X 6 X 12 X 2 «/«“%
- 22-24 correct in 3 mins
JIN /\’ \/" :/ ‘J’ ~
8 6 20 6 32 6 44 6 56 6 UNﬁ(N}Wu N
X 3 X5 X 2 X 8 X 7 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
30-35 correct in 3 mins
9 6 21 6 33 6 45 6 57 6 AUDDART AdT
x 1 X 3 X 3 X 5 X 6 7U|TI'
36-44 correct in 3 mins
- - - 7 HEADUINER
10 6 22 6 34 6 46 6 58 6 45-59 correct in 3 mins
X 6 X 8 x 2 X 5 X 8 Adl oAl
o<k #TAR
[ - - . All correct in < 3mins
RO<k LEGSEND
11 6 23 6 35 6 47 6 59 6 v Iﬁ LESEND
x 11 X 7 x 10 X 4 X 3 All correct in < 2min
o<k HERO
All correct in < 1 min
12 6 24 6 36 6 48 6 60 6 S
x 12 X 3 x 12 X 4 X 6 TUMES TABLES

©Maths Circle Ltd 2020



Name: Week 1 Session 4
Times Tables 6 S 2020-21
. 6x tables multiplication and division
Rock Stars Times Tables 5 2 week
Licensed to St Denys Primary School
1 60 = 6 = 21 36+ 6= 41 24 + 6 =
2 a2-+6= 22 72+6= 42 60+6= Time taken
3 54 + 6 = 23 66 - 6 = 43 6+6=
— E— E— 3 minute time limit &
4 36+ 6= 24 24+6= 44 36+6=
- - - Score
5 12+6= 25  54+6= 45 66+ 6=
6 72 + 6 = 26 18 = 6 = 46 36+ 6= 00
7 24 + 6 = 27 60 = 6 = 47 72 + 6 =
- E— E— What's your rock status?
8 36+ 6 = 28 18 + 6 = 48 24 + 6 =
9 72 + 6 = 29 30+ 6= 49 48 + 6 = < 18 correct in 3 mins
10 60 ~ 6 = 30 36~ 6 = 50 12 + 6 = 18-19 correct in 3 mins
BUZER
11 6+6= 31 48 +~ 6 = 51 66 - 6 = 20-21 correct in 3 mins
B B T 4K&ER
12 48 ~ 6 = 32 6+6= 52 12 +6 = 22-24 correct in 3 mins
13 6+6= 33 72 + 6 = 53 36+ 6 = 25-29 correct in 3 mins
T T T BRUANTHROUGH ARTIST
14 72 ~ 6 = 34 60 ~ 6 = 54 60 ~ 6 = 30-35 correct in 3 mins
FUPPORT AT
15 54 + 6 = 35 30+ 6 = 55 36+ 6= 36-44 correct in 3 mins
HEADUNER
16 60 - 6 = 36 24 + 6 = 56 42 + 6 = 45-59 correct in 3 mins
- o T Rodh AR
17 66 ~ 6 = 37 42 ~ 6 = 57 66 ~ 6 = All correct in < 3mins
- o T ROk LEGEND
18 36+ 6 = 38 18 - 6 = 58 72 + 6 = All correct in < 2min
— - - R }:g\|!§< Jﬁ\gq
19 24 + 6 = 39 36+ 6 = 59 42 + 6 = All correct in = 1 min
20 42 + 6 = 40 66 ~ 6 = 60 66 - 6 =

©Maths Circle Ltd 2020




Name:

Times Tables
Rock Stars

Times Tables

6

Week 1 Session 5

2020-21

6x tables multiplication and division
5 a week

Licensed to St Denys Primary School

1

9

10

11

12

13

14

15

16

17

18

19

20

6 x10 =

6x3=

6x1=

6 x10 =

6x11 =

6x10=

6x5=

6x4=

6x7=

6x12=

6x5=

6x12=

6x4=

6x11=

6 x3=

6x4=

6X6=

6 x11=

6 x10 =

6x1=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

6x9=

6x11=

6x3=

6Xx4=

6Xx9=

6x12=

6x12=

6x5=

6 x10=

6x12=

36 +6=

6+6=

18 + 6 =

72 + 6 =

42 + 6 =

6+6=

42 + 6 =

72 +6 =

6+6=

72 + 6 =

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

©Maths Circle Ltd 2020

42 + 6 =

72 +6 =

30+6=

36 +6=

66 ~ 6 =

24 + 6 =

18 +6 =

24 +6=

66 ~ 6 =

18 +6 =

48 + 6 =

48 + 6 =

36+ 6=

24 + 6=

24 -6 =

48 + 6 =

66 +~ 6 =

48 + 6 =

60 + 6 =

42 + 6 =

S Total

I S2

- S3

Time taken

—_— 3 minute time limit &

E— Score

60

— Add up your time

Mins
S1
S2
S3
S4
S5

Secs

S1

S3
S4
S5

Total

Add up your score
S1
S2

sS4
S5

Total
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